Name - ______________________________________________________		Date - ______________
Review – Exam #7 Western Expansion & Industrialism

Which two government acts were used to expand the railroad industry and increase settlement out west? Explain the impacts of each.
	Homestead Act (1862)
	Pacific Railway Act (1862)

	
	



What did westward expansion and settlement of the Great Plains mean for the Native Americans who were already living there?

· reservations - ____________________________________________________________________________________

· buffalo - _________________________________________________________________________________________

· way of life (culture) - _______________________________________________________________________________

__________________________________________________________________________________________________

What was the Dawes Act (1887) and what were its impacts on the Native Americans, like the Sioux?

__________________________________________________________________________________________________

__________________________________________________________________________________________________

Farmers on the Plains – “Bread Basket” of America 
What did new inventions like the steel plow and mechanical reaper have on farmers and farming, in general?
__________________________________________________________________________________________________
What did the increase in production of farm goods have on the prices of those farm goods?
__________________________________________________________________________________________________
What happened to farmers as a result of low crop prices and unfair shipping rates charged by railroad companies?
__________________________________________________________________________________________________
As a result of these hardships, farmers banded together to form _________________________________.
What were the 3 reforms that the farmers wanted to see implemented?
1. _____________________________________________________________________________________

2. _____________________________________________________________________________________

3. _____________________________________________________________________________________

________________________________ - farmers and workers come together to form a new political party to fight for more rights against powerful business industries and owners.
Which two political changes that the Populists wanted eventually became Constitutional Amendments?
1. ___________________________________________________________________________________________

2. ___________________________________________________________________________________________
Industrialization – 

_________________________________ and ______________________________ led to incredible economic growth.

	RESOURCES
	TECHNOLOGY

	
	



New Business Tactics – What were new business formations like vertical and horizontal integration, monopolies, trusts, pools and holding companies used to do?

__________________________________________________________________________________________________

What is a ROBBER BARON?

__________________________________________________________________________________________________

	Industrialist
	Industry
	Business tactics used

	Andrew Carnegie
	
	

	John D. Rockefeller
	
	

	
	
	



How was Social Darwinism used to justify the gap between the rich and poor? __________________________________

__________________________________________________________________________________________________

__________________________________________________________________________________________________

[bookmark: _GoBack]What were the conditions that all unskilled workers faced on a daily basis? _____________________________________

__________________________________________________________________________________________________

Why were unions created?  What did they want? __________________________________________________________

_________________________________________________________________________(“bread and butter” unionism)

Why were they initially unsuccessful? ___________________________________________________________________

__________________________________________________________________________________________________

EFFECTS OF THE GILDED AGE – 1. increased gap between rich and poor; 2.  increase in cheap immigrant labor and 
3. increase in middle class
